




















































 
 

Answer Key 

Secondary year Higher Secondary Examination 

March 2020 

Communicative English Code: SY-22 

 

Q.No: Value points Split score Total score 

Questions 1-9 (Answer all) 

1 a) Suggestion 1 1 

2 
As the question is erroneous mark can be 
awarded to all 1 1 

3 c) Dropped out 1 1 

4 b) 2 1 1 

5 Falling tone 1 1 

6 b) Sensible 1 1 

7 c) Piercing 1 1 

8 Any apt phrase such as "Could fly" 1 1 

9 Overstatement 1 1 

Question 10-14 (Answer any 3) 

10 

FB post or tweet with apt expressions 
congratulating the student(Possible 
expressions: Well done, Congratulations, 
Keep it up, Proud of you, etc..) 2 2 

11 

Any meaningful and apt response 

1+1 2 

a) Possible answers: Thank you, Thanks for 
the compliment, I'm happy to know that you 
like it, etc.. 

b) Possible answers: I'm sorry to hear that, 
Get well soon, etc. 

12 

Slogans 

1+1 2 Any two apt slogans 



13 

a) Remind  
1+1 

 
2 b) Effective 

14 

a) /naɪf/ 

Fully correct 
transcription: 1 mark 
each 
Correct identification 
of either the vowel 
sound or both 
consonants in a 
word: 1/2 mark each 

 
2 

  
b)/bʊk/ or /buk/ 

Question 15-19 (Answer any 3) 

15 

Debate 

1x4 4 

4 arguments in favour of either the use or 
the misuse of social networking sites  
Or 
2 arguments in favour of the use and 2 
arguments in favour of misuse  

16 
4 Meaningful and apt sentences describing 
the harmful effects 1x4 4 

17 

Review  

 
4 

Name of the book and the author  1 

presentation of thoughts 2 

Choice of words (Suitable adjectives) and 
style 1 

18 

Notice  

 
4 

Format 1 

Details of the event (What, When, Where, 
etc..) 2 

Suitable formal expressions 1 

19 4 relevant interview questions 1x4 4 

Questions 20-24 (Answer any 3) 

20 Any 5 meaningful survey questions. 1x5 5 



21 

Leaflet  

 
5 

Title 1 

Content with subheadings 2 

Presentation 1 

Language 1 

22 

Paragraph writing  

 
5 

Presenting the context 2 

Personal opinion with convincing reasons 1 

Apt expressions such as " In my view...", "I 
think..." etc. 1 

Language  1 

23 

Profile  

 
5 

Title 1 

Developing the hints 3 

Use of suitable connectors and linking 
words 1 

24 

Story writing  

 
5 

Title 1 

Comprehension of topic 1 

Logical sequencing 1 

Narrative technique 1 

Language 1 

Question 25-29 (Answer any 3) 

25 

Paragraph writing  

6 

Opinions with convincing reasons 3 

Organisation of ideas 2 

Language 1 

26 

Invitation letter  

6 

Format 2 

Details of the event 2 



Apt expressions of invitation 1 

Appropriate language 1 

27 

Article  

6 

Title 1 

Content 2 

Logical presentation of ideas 2 

Style and language 1 

28 

Speech  

6 

Salutation and Conclusion 2 

Introducing the topic 1 

Logical presentation of ideas 1 

Apt expressions suitable for persuasive 
speech 1 

Appropriate language 1 

29 

Email  

6 

Subject line 1 

Content 2 

Suitable expressions asking information 2 

Netiquette  1 
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Qn.
No

Sub.Q
No

Answer Key / Value Points Score Total
Score

1 a. Producers/Primary consumers 1 1

2 c. ampR 1 1

3 d. Jaya 1 1

4 Clone is morphologically and genetically similar individual /cell/group of 
cells/similar to parents/
Offspring produced by asexual reproduction / Offspring produced by single 
parent.

1 1

5 Natality/Birthrate. 1 1

6 Leads to deleterious changes  in  the environment/Results in odd climatic changes  
El  Nino Effect /Increased melting of polar ice/melting  of the Himalayas snow 
caps/Submergence of coastal  areas/Rise in the sea level/Affects biodiversity
 (Any such  two relevant responses  2 score))

1
1 2

7 Hydrarch Succession : Succession in water body./takes place in wetter areas/ 
hydric to the mesic conditions./ the pioneers species are phytoplanktons.
Xerarch Succession : Succession in bare land/rock/dry areas/takes place in 
dry areas/progress from xeric to mesic conditions /the pioneers species are 
lichens.
(Definition/any one differences from each 2 score)
                  OR

Any two stages of Xerarch and Hydrarch succession (2 score)

1

1
2

8 Sanitary landfills/Industrial combustion /reduce,Reuse,Recycle/Incineration/
Composting /Open burning
(Any two such  relevant responses  2 score))

1
1

2

9 Rhizome      -       iii . Ginger
Bulbil           -      i.   Agave
Offset           -      ii.   Water hyacinth
Leaf buds     -      v.   Bryophyllum

½
½
½
½

2

10 A  --Exponential growth/J-shaped growth curve/Geometric curve 
                        ( 1 score )
B. - Logistic growth/S-shaped growth curve/Sigmoid curve/Verhulst- Pearl 
growth curve    ( 1 score )
                          or 
Explanation of curves    (½+½ = 1 score)

1

1
2



11 Inactive protoxin converted into an active form due to the alkaline pH of the 
gut .    (2 score ) 
The activated toxin solubilise the crystals and binds to the surface of mid gut 
epithelial cells .
create pores in the epithelial cells.
cause cell swelling and lysis and eventually cause death of the insect.
  (Any one point 1  score)

2 2

12 a.. Pyramid of number

0R

b .Pyramid of biomass

                                       or
  (Pyramid showing numbers only /trophic  levels only   -2 score)  

1

1

2

13
True fruit :  Fruits develop from the ovary .
False fruit : Fruits develops from any parts other than  the ovary/ Fruits 
developed from the thalamus. 
          (2 score)
Example for True fruit and False fruit (½ + ½ )

1

1

2

14 Breeding crops with higher levels of vitamins and
minerals, or higher protein and healthier fats 
to improve public health/Breeding for improved nutritional quality.
Objectives 
(i)Protein content and quality
(ii)Oil content and quality
(iii)Vitamin content
(iv)Micronutrient and mineral content.
       (Any two objectives full score)

1

 ½ 
 ½

2

15 Treating  the cells with specific concentration of a divalent cation such as 
calcium.
incubating the cells with recombinant DNA on ice .
Place them briefly  at 420C (heat shock)
Again place them back on ice
(Any two points give 2 score)

1

1 2



16 PCR/Polymerase Chain Reaction
ELISA/Enzyme Linked Immuno-sorbent Assay
Autoradiography.
Single stranded DNA or RNA probe
Antigen- antibody interaction.
recombinant DNA technology
    (Any two responses  2 Scores )

1

1

2

17 Autogamy : Pollination is achieved within the same flower/Transfer of pollen
grains from the anther to the stigma of the same flower
Geitonogamy – Transfer of pollen grains from the anther to the stigma of 
another flower of the same plant.
Xenogamy – Transfer of pollen grains from anther to the stigma of a different
plant.
            or
Diagramatic representation of these processes
        (3 score)

1

1

1

3

18 a)

b)

Ozone which is found in the upper part of the
atmosphere/ stratosphere is called good ozone.
Ozone which act  as a shield absorbing ultraviolet radiation from
the sun/Ozone that protect earth from UV rays.
     ( Any one  point  1 score)
UV rays act on  CFC and releases Cl atoms.
Cl degrades ozone releasing molecular oxygen
Cl acting as catalysts/ Cl atoms are not consumed 
CFC s are added to the stratosphere,affects on Ozone layer.

( Any two points  2 scores  1+1)

1

1

1

3

19 a)

b)

A. PCR/Polymerase Chain Reaction
B. Gel electrophoresis.
A .Amplification of Gene of Interest/In vitro  synthesis of Gene of 
Interest/early Molecular diagnosis of a disease/detection of covid19/ 
detecting criminals/used to detect HIV/for paternity test.(  Anyone point)
B .Separation of DNA fragments/used in forensic studies.
         ( Any one relevant responses from each )

1
1

½ 
½ 

3

20 Competition
a.The Abingdon tortoise and goats.
e.Balanus and  Chathamalus  barnacle.
Parasitism
bCuscuta on host plants,
fthe lice on humans.
Mutualism
c.fig trees  and wasp.
d.a fungus and algae      OR
Competition Parasitism Mutualism

•   a
•   e

•   b
•   f

•   c
•  d

½
½

½
½

½
½

3
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Qn 

No 

Sub 

Qns 
Answer key/ value Points Score 

Total 

Score 

1 

(i) (C) or  (6,8) ∈ R 

 
1 

 

 

(ii) a * e = a  

a + e + 1 = a  

e + 1 = 0  

e = -1 

1 

½ 

 

½ 

3 

2 (i) A = �� �� �� 

B  = �� �� ��   

Remark: For any two non-zero matrix give mark 

½ 

½ 

 

3 

(ii) A’ = � � �	� 
� 

A + A’ = �� 	�� 
 � + � � �	� 
� 

   = �� �� �� 

 � � ��� = � � �/��/� 
 � 

A - A’ = �� 	�� 
 � - � � �	� 
� 

   = �� 	

 � � �� ��� = � � 	
/�
/� � � 

� A = � � �/��/� 
 � � � � 	
/�
/� � � 

Remark: A= 
��(A + A’)  + 

��(A -A’)   give ½ mark  

Or A = P + Q form give ½ mark 

½ 

½ 

 

 

 

 

½ 

 

 

 

 

½ 

 



3 

 

�� � ��� � ��� � �� � 
�� → �� 	 �� �
 → �
 	 �� 

 = �� � ��� � 	 � ��  	  ��� � 	 � ��  	  �� � 
 

 = (b-a) (c – a) �� � ��� � � � �� � � � �� 

=(b-a) (c-a) [c+a – (b+a)] 

=(b-a) (c-a) (c-b) 

=(a-b) (b-c) (c-a) 
Remark: For direct method give 1 mark 

 

½ 

½ 

 

½ 

 

1 

 

 

 

½ 

3 

4 (i) 

 

(ii) 

(b) or A continuous function is always differentiable 

 �� � ��  � �� = ��� 2" � 2# $#$"  �  " $#$"  �  # =  0 

&2# � "' $#$"   =  	&2" � #'           ()(* =  ��&�*�)'�) � *  
 

1 

 

 

1½ 

 

 

 

½ 

 

3 

5 (i) 

 

(ii) 

 

(iii) 

(b) or |sinx| 

 

Not differentiable. Because of not a smooth curve (or curve 

have sharp edges)  
Remark: (ii) For no also give mark. + =  √-./* ()(* =  ��. √-./* . 123�* 

Remark:  
()(* =  ��.√-./* give ½, 

(-./*(*  = sec�x give ½  

1 

 

1 

 

 

1 

3 

6 (i) 

 

 

 

 

 

(ii) 

 (B) or 2  ) =  2�* ()(* = �2�* 

� Slope of the tangent at &�, �'CD = �2E = � 

Equation of line in normal for is ) 	 )� =  ��F . &" 	 "�' 

 

 

 

1 

 

 

½ 

3 



For y-3= 	�� (x-2) 

  2y-6 = -x + 2  

X - 2y – 8 = 0 

Alternative Method:  

Equation of tangent y – 1 = 2 (x – 0) 

                                     y – 1 = 2x 

                                      y – 2x – 1 = 0 

Equation of line  r to this line is 

            x + 2y + k = 0. 

This passes through (2, 3) 

           2 + 2*3 + k = 0 

           8 + k = 0 

            k = - 8 
�Equation is * � �) 	 � = � 
Remark: Equation of the tangent -> ½ 

Equation of the line  r to this line -> 1/2 

½ 

1 

 

 

 

 

 

 

 

 

 

 

 

7 (1) 

(ii) 

(b) or 3 ) =  2�
* ()(* = 	
2�
* (�)(*� = K2�
* (�)(*�  �  $#$"  	  6# = K2�
*  �  	
2�
*  	  �2�
*  =  � 

�2	
* is a solution 

Remark: 
()(* = 2�
* -> ½ 

1 

 

 

 

1 

 

½ 

 

 

½ 

3 

8 (i) 

(ii) 

(b) or y=2 

z-4 = 0 

y – 2 + k (z – 4) = 0 

This passes through (2, 1, 2) 

1 – 2 + k (2 – 4) = 0 

-1 - 2k = 0 

2k = -1 

K = ½ 

� MNO.-PQ/ P1 ) 	 � 	½ &� 	 �' = � 

                   2y – 4 -z + 4 = 0 

                  2y – z = 0 

Remark: Analyzing the problem give 1 mark 

1 

½ 

½ 

 

½ 

 

 

 

½ 

3 



9 (i) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(ii) 

 

 

(iii) 

f(x1) = f(x2)   
*���*��
 =  *���*R�
 

(x1 - 2) (x2 - 3) = (x2 - 2) (x1 - 3) 

x1 x2 - 3 x1 – 2 x2 + 6 =  x1 x2 - 2 x1 -3 x2  + 6 

- 3 x1  + 2 x2   = - 2 x1 - 3 x2   

- 3 x1  + 2 x1   = - 2 x2 - 3 x2  

-  x1  = -  x2   

 x1  =  x2   
� S P1 Q/2 -Q Q/2 

Now       y = 
*���*��
 

yx – 3y = x-2 

(y – 1)x = 3y – 2 

x = 

) ��) � � ∈ � 

� S P1 Q/-Q  
Remark: f(x1) = f(x2) give ½ mark 

Yes.  Because it is a bijection 

Remark: For yes also give 1 mark 

f-1(x) = 

* ��* � �  

Remark: 

) ��) � �  give ½ mark 

½ 

 

 

 

 

 

 

½ 

 

½ 

 

 

 

 

½ 

 

 

 

 

1 

 

1 

 

4 

10 (i) 

 

 

(ii) 

-./�� T *�)��*)U or (b) 

 -./�� T �*�
*���*.
*U= π� W*� 	  �*� =  -./ π�  =  � 

 

5x = 1 – 6x2 

6x2  + 5x -1 = 0 *  =  ��  QX * =  	� 

1 

 

 

1 

 

1 

 

 

½ 

 

 

 

 



X = -1 does not satisfy the equation as LHS of the equation becomes 

negative. 

 So x = 
�� 

Remark: -./ Y�  =  � give ½ mark 

½ 

 

 

11 (i) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(ii) 

O =  **  ./( Z =  *1P/* $#$" =  $[$"  �  $\$" 

Now, u =  ** 

log u = x log x �O (O(*  =  � �  ]Q^ * (O(*  = O&� � ]Q^ *' =  **&1 � log "' 

 Z =  *1P/* 

log v = sinx log x 1\ (Z(*  =  1P/**  �  ]Q^ *. 3Q1* 

 (Z(*  = Z `sinx"  � log " . cosxa 

 = *1P/* `sinx"  � log " . cosxa 

� 
()(*  =  **&1 � log "' � *1P/* Tsinx"  � log " . cosxU 

 

y= xcosx. 
()(* =  	"bcd" � efb" 

Remark: For product rule give ½ mark 

½ 

½ 

 

 

½ 

 

 

½ 

 

 

½ 

 

 

 

½ 

 

 

 

 

 

 

 

1 

4 

12 (i) 

(ii) 

(b) or sec2x 
f(x)= ∫&4"3  	 3"4' (* 

=  � *��  	  
 · *�
	
  � k 

=  *� �  �*
  � k 

1 

 

1 

 

 

 

1 

4 



f(2) = 0 

� =  �� �  ��
  � k 

k =  	 ��K�   
� S&*'= *� �  �*
  	 ��K�  

Remark: Integrating both the sides give ½ mark 

f(x) with or without C with correct integration give 2 marks 

 

 

½ 

 

½ 

 

 

13 (i) 

 

 

 

(ii) 

∫lm #$"  or (b) 

 

 

Area = ∫noE sin"$" �  ∫nRno cos"$" 

  =  p	cosxqEno  �  psin"qno
nR  

  =  	rcos Ys 	 cos0t  �  �sin Ys 	 sin Ys� =  	 � 1√2 	 1�  � 1 	  1√2 

=   	1√2  �  1 �  1 	1√2  =  2 	  √2 

Remark: Alternative methods: Area = 2. ∫noE sin"$" 

= 2 	  √2 

1 

 

 

 

1 

 

1 

 

½ 

 

 

½ 

 

4 

14 (i) 

 

 

 

 

(ii) 

y = mx $#$" = u 

� y = x 
v�v� 

w =   1"    x =  "� 

yz =  2∫ {(*  =  2∫ �*(*  =  * 

Solution is  

 ). yz =  ∫ |. yz (* �  3 ). * =  ∫ *�  	 *(* �  3 

 = 
���  �  � 

Remark: Identifying linear equn give ½ mark. 

IF = e∫ }~� give ½ mark 

½ 

1 

 

½ 

 

1 

 

 

½ 

½ 

 

4 



15  ��→  =  c �  2� �  3� ��→  =  0c �  4� �  3� 

��→  " ��→  =  � c � �1 2 30 4 3�   =  	6c 	  3� �  4� 

���→  " ��→ �  =  √61 

 

�  � =  ��C �
� � ��√��   

Remark: d̂   =  �→ " �→��→ " �→� give ½ mark 

Alternative method: Equn of the plane in 3 point form give 3 marks 

� " 	 "� # 	 #� � 	 ��"� 	 "� #� 	 #� �� 	 ��"� 	 "� #� 	 #� �� 	 ��� =0 => �" 	 1 # 	 1 � 	 21 2 30 4 3 �  =0 

=> (x-1) (6-12) –(y-1) (3 -0) + (z-2) (4 - 0) =0  

=> 6x + 6 -3y +3 + 4z -8 = 0  

=> 6x + 3y -4z + 1 = 0 d̂ = 
������ s�√��  give full mark 

1 

1 

 

1 

 

1 

4 

16 (i) 

 

 

(ii) 

�  =  &	c 	 � 	 �'  �  � &7c 	 6� � �' �  =  &3c � 5� � 7�' �  � &c 	 2� � �' 

Remark: �  =  �  �  � � give ½ mark e  	  �  = 3c �  5� �  7� �  c �  � �  � 
 = 4i + 6j + 8k 

� "  $  = �c � �7 	6 11 	2 1� 
= -4i -6j -8k |� �  v| = √��� 

S.D = �&s� � �� � ��'.&�s� ��� ���'√��� � = √��� 
Remark: Identifying a , � , c , d  give 1 mark 

Alternative method: Cartesian method, correct answer give full mark 

Formula give ½ mark  

 

1 

 

½ 

 

 

½ 

 

½ 

1 

½ 

 

4 

17 (i) 

 

(ii) 

 

 

 

 

 

*. � )�  �  3  =  � 

 

v =  ¡ "�� � #��  �  ��e  	 1
¢T1�U� � T1�U�  �  T1eU�¡ 

1 

 

 

1 

 

 

 

 

4 



 

 

 

 

 

(iii) 

=  �¢ �.� � ���  �  �3� 

Remark: Distance formula give ½ mark 

 &�  	 �'. £  =  � 

[� – (i+0j-2k)].[i+j-k]=0 

[&xi � yj � zk ' 	 &c � 0�2�'].[i+j-k]=0 

x+y-z-3=0 

Remark: Alternative method: formula A(x-x1)+ B(y-y1) + C(z-z1) = 0 give ½ mark 
1(x-1) + 1(y-0) - 1(z+2) = 0 give ½ mark 

x+y -z -3 =0 give ½ mark 

vector form give ½ mark 

 

 

 

 

 

 

1 

1 

18  

(i) 

(ii) 

(iii) 

(iv) 

P(A1) = 0.7   P(B1) = 0.4    P(A) = 0.3 P(B) =0.6 

P(A ∩B) = P(A).P(B) = 0.3 x 0.6 = 0.18 

P(A∩B1) = P(A).P(B1) = 0.3 x 0.4 = 0.12 

P(AUB) = P(A)+P(B)-P(A).P(B) = 0.72 

P(A1∩B1) = P(A1).P(B1) = 0.28 
Remark: For formula give ½ mark 

P(A’), P(B’) give ½ mark 

For Alternative method and correct answer give full mark 

 

1 

1 

1 

1 

 

4 

19 (i) 

 

 

(ii) 

 

 

 

 

 

 

 

 

 

(iii) 

A = �2 3 43 4 5� 

Remark: 2X3 general matrix give ½ mark. 

If one element is not correct give full mark 

A’ = �2 33 44 5� 
AA’ = �2 3 43 4 5� �2 33 44 5� = �29 3838 50� 

(AA’)’ = �29 3838 50� = AA’ 

� AA’ is symmetric. 

Remark: A = A’ give ½ mark 

For any matrix prove AA’ = (AA’)’ give 2 mark 

(A+A’)’ = A’ + (A’)’ 

= A’ + A 

= A + A’ 

� A+A’ is symmetric. 

Remark: Using any example give full mark 

2 

 

 

½ 

 

 

1 

 

 

½ 

 

 

 

1 

 

1 

6 



20 (i) 

 

 

 

 

 

 

(ii) 

 

 

 

 

 

 

 

 

(iii) 

A’ = - A 

|A’| = |-A| = (-1) 3 |A| 

|A’| = - |A| 

|A| = -|A| 

 2|A|=0 

|A|=0 
Remark: For any skew symmetric and proving |A|=0 give 1 mark 

�2 � " 3 41 	1 2" 1 5� = 0 

(2+ �) (-5 -2) -3(5-2 ")+4(1+ ") =0 

(2+ �)x -7 -3(5 -2 �)+ 4(1+ �)=0 

-14-7� -15+6 � +4+4� = 0 

3� – 25 =0 � = �W
  

Remark: If |A|=0  is considered, then give ½ mark 

|3AB| = 32|AB| 

             = 9 |A|.|B| 

             = 9x-1x3 

             =-27 
Remark: If |AB|=|A||B| then give ½ mark 

1 

½ 

 

½ 

 

 

 

½ 

 

 

½ 

 

½ 

½ 

 

 

½ 

½ 

½ 

½ 

6 

21 (i) 

 

 

 

 

 

 

 

 

(ii) 

 

 

 

 

 

 

 

 

f(�) = � 2 +2 � -5 

f’(�) = 2 � + 2 �� + 2 = 0  � = -1 

Interval is (-∞, -1) , (-1, ∞) Cª  (-1, ∞) ,    f’(� )<0 
�  Strictly decreasing Cª (-∞, -1)    f’(� )>0 
�  Strictly increasing 

y = � 3      
«¬«­= 
� 2  

            (
«¬«­)(1,1) = 3 

Equation of tangent 

             y-1 = 3 (� -1) 

           y -3 � � � = � 

Equation of normal 

       y-1 = 
���  (� -1) 

      3y + � 	 � = � 

 

1 

 

 

½ 

 

 

½ 

 

½ 

½ 

 

 

½ 

 

 

½ 

 

6 



 

(iii) 

Remark: If m=
«¬«­ then give ½ mark 

For formula give ½ mark 

h’(x)= cosx – sinx 

h’(x) = 0  sinx = cosx  x=
Ys 

h’(
®�) = 

√����  >0 

h’(
®
) = 

��√��  <0            Max: value 

                              = sin
Ys + cos

Ys =  √2 

� h(x) has local max at x=
Ys   

Remark: For writing conditions of max: min:  give 1 mark 

 

 

½ 

½ 

½ 

 

 

 

½ 

 

22 (i) 

 

 

 

 

 

 

 

 

 

 

(ii) 

 

 

 

 

 

 

 

 

(iii) 

∫ $"1 � "�4  

= ∫ «­
ō&s�­R' 

=4∫ «­­R�s 

=4. 12 tan	1 T"2U  �  e 

=2tan�� ­�  �  e 

Remark: Alternative method: ∫ ���T°RUR $" = 
±²³´¯T°RU

R̄  

For formula give ½ mark �&���'&���' = 
µ���  �  ¶��� 

x = A(x-2) + B(x-1) 

x =2  2=B 

x =1  1= -A  A = -1 ∫ �&���'&���' v� = ∫ T ����� � ����U v� 

=-log|x-1| + 2 log|x-2| + c 

Remark: For any correct method and correct answer give full mark 

For formula give ½ mark 

∫®�� * 3Q1* (* = p�. 1P/�q�®�  - p	3Q1�q�®�  

    = (
Y� sin

Y� - 0) + (cos
Y� – cos0) 

   = 
Y� – 1 

For formula give ½ mark 
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23 (i) 

(ii) 

 

 

 

 

(iii) 

 

(b) or 0 �. �  =  |�|. |�| cos 

      = 2.3.cos 

When  = 0,  �. �  = 6 

Or (c)  

� " e = � c � �2 1 	11 0 3 � = 3i+ 7j -k 

p� � eq = � .( � x e) 

 = � . (3i+ 7j -k) 

= 1. √59 cos 

When  = 0,  p� � eq =√59  
Remark: For any unit vector a and finding [a b c] give 3, and for correct answer full mark. 

 [a b c] = ��� �� ���� �� ��e� e� e� � give 1 mark 
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24  x + 2y = 10 
 

x 0 10 

y 5 0 

3x + y = 15 
 

x 0 5 

y 15 0 

 

 

 

 

1 
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6 



B is (4, 3) 

Vertices Z= 3x+2y 

O(0,0)         0 

A(5,0)         15 

B(4,3)         18 

C(0,5)          10 

Max: Z=18 at (4,3)  X=4   y=3  
Remark: For tabular column 1 mark, Figure, for each correct line 1 mark each, correct 

shading 1 mark. 

For any 3 correct corner points give 1 mark. 
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25 (i) 

 

 

 

(ii) 

 

 

 

(iii) 

6k + 0.1 = 1 

6k = 0.9 

K = 
E.·�  = 0.15 

Remark:  pi=1, give ½ mark.   

P(1<x<4) = P(2) + P(3) 

                  = 2k + 2k 

                  = 4k 

                   = 4 x 0.15 = 0.6 
 

x P(x) xP(x) x2P(x) 

0 0.10 0.00 0.00 

1 0.15 0.15 0.15 

2 0.30 0.60 1.20 

3 0.30 0.90 2.70 

4 0.15 0.60 2.40 

  2.25 6.45 
 

Mean = xP(x) 

            = 2.25 

 V(x)  =  x2P(x) – (xP(x))2 

           = 6.45  - (2.25)2 

                 = 6.45  - 5.0625 = 1.3875 

½ 

 

½ 

 

½ 

 

 

½ 
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½ 
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Summarized by:  Sreemary K, (9446512086)  



ANSWER KEY 

SECOND YEAR HIGHER SECONDARY EXAMINATION MARCH 2020 

PART III 

SUBJECT:  HOME  SCIENCE 

Q.NO.  Answer key/Value points score Total 
score 

1.  c. Fermentation 1 1 

2.  d.1200m/day 1 1 

3.  a.Freeze drying 1 1 

4.  a .Block printing is the latest method of printing 
design on fabric 

1 1 

5.  a.Steaming 1 1 

6. a. 
 
b. 
c. 

 Right answer not given in the choice. Hence any 
value points can be scored 
Singeing 
Bleaching 

1 
 
1 
1 

 
3 

7.  Canning 1 1 

8. a. 
b. 

Shedding 
Reed 

1 
1 

 
2 

9. a. 
b. 

Simple lipids 
Derived Lipids 

1 
1 

2 

10.  Low residue diet is made up of food which can be 
completely absorbed , thereby leaving a little or no 
residue for the formation of faeces(any other value 
points can be scored) 

1 
1 
 

2 

11.  Plain weave is formed by yarns at right angles 
passing alternately over and under each other.  
In Twill weave the order of interlacing causes 
diagonal lines to appear in the fabric. 

1 
 
1 

 
2 

12.  1. Takes less time to cook 
2. Fuel is saved 

( Any other valid points can be scored) 

1 
1 

 
2 

13.  Parchmentization is the process in which the cotton 
fabrics are treated with dilute sulphuric acid .  
It results in a transparent and stiff fabric called 
organdie 

 
1 
1 

 
2 



14. a. 
 
b. 

Braided  fabrics :-are a trimming fabric with three or 
more yarns interlaced diagonally. 
Stitch bonded fabrics:-an assembly of fibres or yarns 
held together by stitching along the length direction. 
 

1 
 
1 

 
 
2 

15.  Kinesics is  the non verbal communication using 
body language.  
Facial expressions and gestures enable people to 
communicate without words. 
(Any other valid points can be scored) 

1 
 
1 

 
2 

16.  1. To add variety 
2. To make use of food when it is cheap 

( Any other valid points can be scored) 

1 
1 

 
2 

17.  1. Small amount at frequent intervals 
2. Avoid use of extremely hot and cold foods 

(any other valid points can be scored) 

1 
1 

 
2 

18.  Monofilament fibres are made up of single ,smooth, 
solid strands 
Multifilament fibres are composed of a number of 
tiny filaments twisted together. 

1 
 
1 

 
2 

19.  Disaccharides  are formed by combination of two 
monosaccharides with the elimination of one 
molecule of water. 
They split into simple sugars 
Eg. Sucrose,maltose,lactose 

 
1 
 
1 
1 

 
 
3 

20.  1. Improper handling 
2. Improper storage 
3. Invasion of harmful micro organisms 
(With explanation in a sentence for each point) 

(Any other valid points can be scored) 

1 
1 
1 

 
3 

21.  1. Solution dyeing/dope dyeing 
2. Stock dyeing/fibre dyeing 
3. Yarn Dyeing 

(With explanation in a sentence for each point) 
(Any other valid points can be scored) 

1 
1 
1 

 
3 

22.  Formal education  Extension education 

Rigid Flexible 

Authority rests with 
the teacher 

Authority rests with 
the people 

Teaching is mainly Teaching is mainly 

 
1 
1 
 
1 

 
 
3 



vertical horizontal 

(any other three valid points can be scored) 
23.  Natural fibres are of three types  

1. Vegetable fibres 
2. Animal fibres 
3. Mineral fibres 
(With explanation in a sentence for each point ) 

 
1 
1 
1 

 
 
3 

24.  1. Amount of twist 
2. Direction of twist 
3. Degree of balance 

(with explanation in a sentence for each point) 

1 
1 
1 

 
3 

25  1. The Sender 
2. The Message 
3. The Treatment of the message 
4. The Channel 
5. The receiver/audience 
(Any three with explanation in a  sentence for 
each point) 

1 
1 
1 

 
3 

26  1. Energy yielding food 
2. Body building food 
3. Protective and regulatory food 

        (With explanation in a sentence for each point) 

1 
1 
1 

 
3 

27  1. To bring nutritional value 
2. To consider personal preferences and food 

habits 
3. To bring variety in meals 

(with explanation in a sentence for each point) 
(Any other valid points with explanation can be 
scored) 

1 
1 
1 

 
 
3 

28.  Functions of vitamin A 
1. Essential for building cells 
2. Helps normal tooth formation 
3. Plays vital role in maintaining normal vision 

(Any other three valid points can be scored) 
Vitamin A  deficiency diseases 

1. Night blindness 
2. Bitot’s spots 
3. Phrynoderma 

(with explanation in a sentence for each point) 
 

 
1 
1 
1 
 
 
1 
1 
1 

 



29.  Composition, structure, length, strength, moisture 
absorption, shrinkage, resiliency, effect of friction, 
heat conductivity, effect of heat 
(Any six of the above mentioned properties  to be 
compared. comparison  should be for the same 
property ) 

1 
1 
1 
1 
1 
1 

 
 
 
6 

30  1. Dobby weave 
2. Jacquard weave 
3. Surface figure weave/Spot or dot/swivel 

weave/lappet weave 
4. Pile weave 
5. Double weave 
6. Leno weave 
(with explanation in a sentence for each point) 

1 
1 
1 
 
1 
1 
1 
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